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General Instructions:

1 All questions are compulsory.

- The question paper consists of 31 questions divided into four sections A, B, C and D.
Section-A comprises of 4 questions of 1 mark each; Section-B comprises of 6 questions

of 2 marks each; Section-C comprises of 10 questions of 3 marks each and Section-D
comprises of 11 questions of 4 marks each.

There is no overall choice in this question paper.
Use of calculator is not permitted.

TUE-A [ SECTION-A
v e 1 A4 wE Wy ow R
Question numbers 1 to 4 carry one mark each.
1 b % b€ x 2T gF FA Hfag)
Find the value of ¥* x 2 x 1™
2 AR I : 6-x— 22
Factorise ; 6—1—22.
3 v fordm e | @ Yl e 3R 0 # ¥6 v el FE § fn el s sl ow g s |
t m.mmmmn#ﬁﬂﬂﬂmt?

A transversal | intersects two lines m and n such that a pair of alternate interior angles is
equal. Then, what can you say about the lines m and n ?

4 % (a, b) = (0, —2) &, A a 3 b F T T T
If (a, b) = (0, =2), find value of a and b
WUE-¥ / SECTION-B
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Question numbers § to 10 carry two marks each,

zimﬁfllihﬁﬂwmﬂm,wﬂpaqunimhmq;ﬂ!l #
i

Express 28 inthe form of T, where pand g ane integers and g « 0,
Y
s 20 e RTEETE 4 28 @, g T T
Flond thee value of oot v s 2 s a bactor of 207 4+ i 4+ 4,
WMy - 15w 200 7 witen A el e fag g afaere sifvpde w aee g
Solve e eguation = 15 = 25 amd state Buclal's axiom used here,
B sipfa 9, o vms ap shco o ow ks Y g v ofree wh k) c1=500 3l 2

Z2Lur By o3 v wad g, g i B AR s CD wviag €
[

A B
C D

In the figure, two lines AB and CD are intersected by a transversal | such that £1 =50 and
£2w 1Ur, Finding 3, prove that AB and CD are parallel.

v figsll (2, -2 s 4 4 W omifam wfm oww o gl e w2
vt 1w sv P (- 4, 6) 3 T FFr she g wiiwg fx T wwe Yon o # m o

Plot the podnts (2. = 2) and (4, 4). Dhraw a strdight line passing through these two points. Plot
anether pednt { =4 60 Finad if it lies on the straight line.

g o feapa o) s s A 125 m & et 098 g F 9 o 100 m 81w kw2
Wi N g, pee e g WP

Thee Jonpgest side of a tight angled trianghe I8 125 moand ene of the remaining two sides is 100
m. i s area wsing Heron's formula.

TITE-W / SECTION-C

10

wed e 11 9 209 e % g atw B

cuuestion numbers 11 to 20 carry three marks sach,
11 Ji @ wiwm Yan e Fredra @i

Represent JV on the number lipe.
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12 ﬂﬁ:1+
1+ 2
1+ =
]fl_,:g"':+Ji=a+bv’§,lhmﬁndaandb.
13 3 3 3 )
(][] - gt memmenn

3 3 3
If (-—8—] - [1] - (l) = %. then find the value of x.

+

= a+ b2 2 @ a3 bFm AW 3

:

:ﬂN

|

15 3 5
14 (x+ 2y — 32)2 ) wEIfGa Fifau | 3

Expand (x+2y— 3z)?
15 @ w§ snfa &, Yard AB, CD 91 EF W@ O W Wfrsdz &l €1 ZAOC, ZCOF # £BOF #i

[ [ wifaw
N F

w

A 4°0ON35° B
D

In the figure, lines AB, CD and EF intersect at O. Find the measures of ZAOC, ZCOF and
£BO<I:~'.

F
A 40°0N35° B
D

16 Fra® ffjm 3R 21 =2 x+y), £2=(x+2y)° 3R £3=(3y+20)° ¥1 2430 257w Fiforg) 3

A
P
.

In the figure, if m and £1= (2 x+y), £2=(x+2y)*and £3=(3 y+20)", find £4 and £5.
n

N

w: 20
y g

”
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21 :
TRy=2+ 3 L @ r+—1=- F R 73 S
l.ﬁ

Itx=2+ J3, find the value of 1:-#-112- :
= 'ﬂﬁzt=3"hfa"=t,'fﬁfﬂtﬁﬁqﬁ?%+l+.}=¢u!| 4
lf?."!-}"r=6'=,ihenpm'emali-+l+
‘E‘ﬁn{rl=ax3+4-‘+3x—ﬂﬂtthli B—dx+a® x=3 8 WM A A UFA A F) Am 4
pla) F x—2 8 um 23 §, @ fuwa 3w i)

The polynomials plx)=ax® +4x2+3x—4 and q(x)= x>—4x+a leave the same remainder when
divided by x— 3. Find the remainder when p(x) is divided by x — 2.

and favres fafu gm, 9E92 3vd+ 43430+ 1 W a—1 @ s Ay sy wee agr dawe T 4
T .
Divide the polynomial 3x* + 413+ 3x + 1 by x~1 and find quotient and remainder.
25 TUFEE R : 1 + 1322+ 320 + 20
Factorise : 1 + 1313+ 32 + 20
26 Tz a+b+c=0% 7@ fag FAY : ad+ bl +cd =2(b%2 + 2a? + 277
If a+b+c =0, then prove that a' + b* + ¢ = 2(b?c? + c%a? + a%?)
27 ot fraw W uF wEE % aw, fam A awfe wm o asc ¥ wF am aq BnpmEn 6 fep § 4
wofdl ¥ faq @ o 59 F T9E w1 41 U w6 8 9 g A gesi mowmei gm 87
ofZ BA L AC , DE L DF ¥ WR & f pA=DE au1 pr =€C ¥, 1 77f¥w % AasC = ADEF.

b | g

=0.
23

24

On Envirenment Eav, people in a colony were trying to develop a garden in the region ABC and a pond
for fishes In the triangular region FED. What value Is being exhibited by them by doing so ?

In the given figure BA L AC, DE L DF
Such that BA=DE and BF =EC
Show tha}\ AABC = ADEF

/:\ E

Ny

ﬁnimfﬁrﬁgm-qm pq @1 WA fag maw qr #1 7 fag y &) fag Fifez P =021 4
fere & frm o avn @ 3w g W & yife ofere & @ =4 e fafaw

oA - 30

£l A

28
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17 o wd sngpfa o,y Wi 3
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/ﬁiﬂn r
N \P_bh
3] C D
In the given ﬁt‘_l}:l', find .
~|F .
: 90} \?"r\

C D
18 faa i, AB= AC 3ht BE am CE www: 2B 3t 2C % wfgvisrs %1 fog #if9¢ fF AEBC =AFCB 3
¢

A

In the given figure, AB AC and BE and CF are bisectors of £B and £C respectively. Prove
that hhﬂC:AFCB

£

|r19 mmﬂq Ammm&:mﬁ A(0,0), B(5,0), C(3,2) 3t D(0, 2) & 1

Draw the quadrilateral ABCD whose vertices are A(0,0), B(5,0), C(3, 2) and D(0, 2).

20 U s wa ®) g 50 mx 30 m ¥ TEF St i e T R, Rt yend 3
14m, 15 m 213 m &1 ¥m Fa w1 daEa T
In a rectangular field of dimensions 50 m %30 m, a triangular park is constructed,
dimensions of the park are 14 m, 15 m and 13 m, find the area of the remaining field.

TUE-T [ SECTION-D

wv T 21 8 319 VAT W 4 30w 1)

Question numbers 21 to 31 carry four marks each.

3

If the
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IR
In the given figure, QM =QN, M is the mid-point of PQ and N is the mid-point of QR. Show that

PQ =QR. State which axiom you use here. Also give two more axioms other than the axiom used in
the above situation.

P M o

N

R .
29 drdf smgpfa A, a+ b A FAT) 4

A‘Q;/ D
a

In the given figure, find a+b.

30 faz wfay fF o B ¥ i Foi @ dm & g g ¥ Afe o ane fm F ww g 4
Fv Zut F1 yw-<had ¢, @ = wil B 7@ BN

Prove that the sum of three angles of a triangle is two right angles. [f in a right angled triangle
an acute angle is one-fourth the other, find the acute angles.

31 1 wafzam @ ABC #t DBC TF MR BC W T WHR ¥ fF 3F o 4
A A D, BC ¥ fauita sin &1 29fze i AD, BC %1 wa Anfures €1

ABC and DBC are two isosceles triangle on the same base BC such that A and D lies on the
opposite sides of BC. Show that AD is the perpendicular bisector of BC.

0000000~
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